50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

15EC42

Momﬂe-

Explain the architecture of 8086 cpu 1 with a neat diagram. (08 Marks)
Explain the following addressmg mo@gles with an example tyg;each
i) Immediate ii) Register ?ﬂ) Direct iv) Relatlve’w ased indexed. (04 Marks)

Explain the pin functions of’ ﬂge following:
i) ALE ii) LOCK ) BHE/S7  iv) TgsT (04 Marks)

OR
Explain the operatmn performed by the followmg 8086 instructions with a numerical
example: §
i) AAA LDS (08 Marks)
leferentlate ‘between the following mstruc’uons
i) MQV“%X offset TABLE angiﬁLEA BX, TABLE
i) o \UB'AX, CX and CMP AXCX (04 Marks)

The opcode for MOV mstru@tloh is “100010” Detémme the machine code for the
following instructions:

rrrrr

i) MOV AL, [BX] (04 Marks)
Explain the following 1nstruct10ns with an ex inple to each
1) IDIV 11) TEST 1i1) WAIT ‘ (08 Marks)

What do you mean by assembler direc xve‘? Explain the followmg assembler directives with
example: - :

1) ASSUME ii) PUBLIC and EXTERN \ (04 Marks)

Write an:ALP to convert an 8wp1t blnary number tq‘ equlvalent BCD number. (04 Marks)
. | 4 4

Ex laln any 3 strmg ms Wctlons of 8086 (06 Marks)

“erte an ALP to ¢o ;t EVEN and ODD humbers in the given array of twenty eight bit

% snumbers. (w2 (06 Marks)
Differentiate betWéen the followmg“é..
i) AND and TEST ii) SHIFT aﬁd ROTATE. (04 Marks)

d L
Explain the stack structure.0f 8086 in detail. (06 Marks)
Write an ALP to gencratg: ‘a delay of 100msec using the microprocessor that operates at
5MHZ frequency show all calculations. (04 Marks)
Write an ALP to fmd the factorial of a number using procedure. (06 Marks)
1 of2
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OR

(08 Marks)
(04 Marks)
(04 Marks)

Draw and discuss the read and write. T1mmg diagram of 8086 in maxmlum mode. (08 Marks)

Explain the internal architecture of 825 PfrWlth a neat diagram. (08 Marks)
Interface eight digits of seven seg (08 Marks)
Interface TWO 8K x 8 and TWO 4} (08 Marks)

B

Stepper motor in clock wise dlrectlon at an angle 0f270° with a delay between each step is

Show all calculatlons [Given step angle of motor = 1.8° and
p : ; ‘ency] (12 Marks)

Explain the fo I%Q“ng keyboard handhng INT21H das function,
i) Function, O9H ii) Function 02H. e (04 Marks)

CMRIT LIBRARY

ii)  RISC and CISC archite (06 Marks)
Explain the 51gn1ﬁcance of" dlfferent bits of contr I'word reglster fo"rmat of 8253/54.
= a N (06 Marks)

(04 Marks)

‘ A

2 0f2
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